HOLD DOWN KIT

Phone: (919) 575-6426
Fax: (919) 575-4708

INSTRUMENT COMPANY www.eNewton.com

Modified:05/21/2012

Ordering Number : 2100761110

Qty Description

5/8"-11 x 1-1/16" hhn
5/8” spring lock washer
5/8” flat washer

5/8” stud

hold down plate

Stock List

AN A ® M B

oo O A~ WO N =

Ordering Number : 2100760610

Item Qty Description

3/8”-16 x 7/8” hhcs
3/8” lock washer
3/8” flat washer
1/2” lock washer
5/8” flat washer

Stock List

- a4 a4 a4 a a4

o O A~ W N =

@ S Ordering Number : 2100760710
\m’ Qty Description
2 1/2” hex nut
&S @ %' 1/2" lock washer
% 1/2” flat washer

5/8” flat washer
1/27-13 x 3-1/4" stud

A A D A A~ D

o 0~ W N =

Ordering Number : 2100760810

Qty Description

3/8” hex nut
3/8” lock washer
3/8” flat washer
1/2” flat washer

Stock List

3/87-16 x 4" stud

o N o o~ W N =

R U N R N U N

hold down plate

anchor, drop in, HDI 5/8”

anchor, drop in, HDI 3/8”

anchor, drop in, HDI 1/2”

5/8” extra heavy flat washer

anchor, drop in, HDI 3/8”

Ordering Number : 2100760110

Qty Description

1 4 | 5/8"flat washer

2 4 | 1/2" flat washer
Z 8 | 3/8" flat washer
§ 4 4 | 3/8"lock washer
7] 5 4 | 3/8” hex nut

6 4 | 4”"x3/8 stud

7 4

drop in anchor HDI 3/8”

Ordering Number : 2100761010

Item Qty Description

1/2"-13 x 7/8” hhn

1/2” spring lock washer
1/2” flat washer

5/8” flat washer

1/2” stud

hold down plate

anchor, drop in, HDI 1/2”

Stock List

N o o b~ W N =
A D B DM B BB

Ordering Number : 2100760910
ltem Qty Description

1/2” hex nut

1/2” lock washer

Stock List

1/2” flat washer

5/8" flat washer

1/2”-13 x 3-1/4" stud
anchor, drop in, HDI 1/2”

o 0~ W N =
N DD NN NN

Ordering Number : 2100760510

Qty Description

1 | 3/8-16 x 1" hhcc
1 3/8” x 2” OD washer
1 drop-in anchor, HDI 3/8”

Stock List

The information contained in this drawing is the sole property of Newton Instrument Company Inc (NIC). Any reproduction in part or whole with out the written permission of NIC is prohibited



